Numatic International Spare Parts
Model No: CTD 572

234015
DRAWING: EXP446 ISS:A01
06/10/99




Numatic International Spare Parts
Model No: CTD 572

POS] _PART NO: _|DESCRIPTION: COMMENTS:
1 325009 | BLUE CONTAINER
325008 __|RED CONTAINER
325052 | GREEN CONTAINER
325053 | YELLOW CONTAINER
325132 __|GREY CONTAINER
204060 __|3" CASTOR (GREY)
06117 __|WET/DRY FLANGE
7 02027 __|HOSE FLANGE GASKET
19105 |NOB.5/8" LG.POZI-PAN.SCREW.ZIPLPLASTITE
06022 | TOGGLE SMALL CLAW
19047 | M5 X 10MM LONG POZI PAN SEMS SCREW
s 19045 LONG POZI PAN SEMS SCREW
9 08025 E DLE SPACER
0 06226 INER
1851 BUCKET HANDLE PAINT BLACK
22500 CARRYING HANDLE
22510. FLOAT MOULDING
22507 FLOAT CAGE
5 206026 LYPROP BALL
207073 __|GUAZE FILTER
202036 __|FLOAT MOULD EXTRUSION SEAL
220235___|FLOAT GROMMET,
207030 __|WHITE FILTER + MOULDING GASKET
9101 __[FILTER GRID DOUBLE
1 1046 |BOTTOM MOTOR HOUSING P/DRILL 14" CTD
22 1049 __|COVER MOULDING PUNCH
23 06010 __|FAN GUARD
24 2005 |BOTTOM MOTOR GASKET
25 2003 | TOP MOTOR GASKET
26 5060 30V MO
5062 20V MOTOl
5063 V MOTO
27 225063 /572 TOP MOTOR HOUSING
28 225154 IR SEPARATOR DUPLEX
30 220288 __|30MM DIA WHITE P CLIP
31 206211 __|HANDLE COVER
206221 __|HANDLE COVER (120V) T20V CSA
32 320007 __|HANDLE MOULD SUB ASSY 3 CORE
320272___|HANDLE MOULD ASSY 3 CORE (120V) T20V CSA
33 220552___|RED ROCKER SWITCH
34 220238 __|SWITCH COVER
35 219107 __|No6 X 5/8 LONG PLASTITE SCREW
36 220132 __|STRESS RELIEF SLEEVE
37 220131 __|CABLE CLAMP
38 320010 | DIODE ASSY.
39 219547 | M5 X 16MM LONG POZI PAN SCREW,
40 320183 __|BLUE LINK WIRE
320322 |BLUE LINKWIRE (IT5V)
320505 |BLACK L| RE (120V) T20V CSA
a1 323003 BROWN LINK WIFE
320320 __|BROWN LINK WIRE (115V)
320504___|WHITE L E (120V) T20V CSA
a2 320551 __|BLUE LINK WIRE
320020 __|WHITE LINK WIRE (120V) T20V CSA
73 202012___|GASKE
a4 220532 | THERMOSTAT
220659 STAT (L A) T20V CSA ONLY
75 216147 240V _50HZ
42 50H
43P 60H
24Pl 60H
75 |Pl 50H
26 [Pl 60H
6148___[P! 50H
6 9304 T G"RING
a7 06112 __[Q EASE FIX PLATE
48 19299 [BLOCKING NUT
49 227055 | SOLUTION TUBE (48mm LONG)
50 227056 __|SOLUTION TUBE (78mm LONG)
51 219327 |80MM LG COMPRESSION SPRING
52 9326|501 COMPRESSION SPRING
53 6149 |QUICK RELEASE COUPLING
54 9337 __|[LOCKNUT,
55 3167 __|UP + LOW N PIPE TO BMH CT575
56 02042__|FLOAT SEALING GASKET
57 26050 __|WHITE "P" CLIP
58 320058 K WIRE
59 320059 LINK WIRE
60 320092 ELLOW LINK WIRE
61 320093 ELLOW LINK WIRE
62 9369 1" LG POZI-PAN.SCREW.S/STEEL PLASTITE
63 9566 4.6MM LG POZI-PAN.SCREW.Z/PL.TAPTITE
64 9076 5 STAYTIGHT NU
65 271 4_12MM LG POZI-PAN.SCREW.Z/PL.SEM
66 370 08 X 5/8" LONG PLASTITE SCREW
67 291 3.5MM LG POZI-PAN.SCREW.Z/PLTAPTITE
68 220232 AINS CABLE (UK. PLUG)
220253 JAINS CABLE (CEE PLUG)
220094 AINS CABLE (NO PLUG)
220222 AINS CABLE (SWISS PLUG)
299039 AINS CABLE (AUSTRALIAN PLUG)
20496 Al CSA)
69 19090 [M4. Z¢) . SCREW.Z/PLSEM
70 20682 | SUPPRESS! TH 2.48 TERMINALS 115V ONLY
71 220555 | DELAY 230V
220556 __|DELA MODULE 120V
22055/ __|DELAYS MODJL 100V
2 320286 HITE LI
3 S050s—BROWN LINKWiRE
Z 320294 | WHITE LINK WIRE
5 220289 __|SUPPRESSOR 230V ONLY




